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12.2 Analyzing Data

Measures of Central Tendency

X any ot these @n Yo called gn N2

1) Find the mean, median, and mode for each data set. Then circle whic
represents the data.

a.

h measure of center most accurately

Carl tracked how many text messages he sent per day for a week.

JOATRYS 18
[orar] | Eduk, enter dake
21, 25,17, 168, 21, 50, 43 : 14, (~-Jor Sk
T, 1, 1\ 25, 43,980,163 [,}:Jﬂ -5 (a\c,
Mean: "ﬁp?)

b. A sample of 10 employee salaries was taken from a company.

45,000 $50,000 $75,000 $50,000 $50,000 >50,000 $50,000 $112,000 $50,000 $52,000
£ MSK Sok *Sok S0k %ok S50k Aok T ssYk  s1si | LK

W
Mean: “J%' "1(7Q Median: &wf 000 @50,000 )

Outlier: A r,?o'\(\-\' _\é{\g,\- hQJS C)U‘\'ﬁ.\&@ M@b*- OQ_ ‘HMJ d-fk\'d«

2) Suppose the values 56, 65, 73,59
the outlier? Explain.

,, 65, and 59 are the data for the situations below. Would you discard

a. Water temperature of a lake at seven locations b. The number of customers in a restaurant each

Diswarh= sove Sitahsoot, U004 1 stend
faesht ceflect lahe o5

wino\L

Identif;( the outlier of each set of values.
a. 3.4,45,2.3, 5.9 3.3,2.1,3.0,2.9 b. 17,21,19,10, 15, 19, 14,@11, 16

E 1%
]
i



Box and Whisker Plots

Box and whisker plots are graphical representations of a data set using the 5-number summary. They give us a
more visual representation of the median, the range, and the interquartile range. They can also show what
happens to a data set with the inclusion of outliers and the removal of outliers.

5-number summary: V\‘\t\ @! M &1 M

\ =y
Ql: mediaa of lowers hall of M\a(al Q3: MAA6A dF op s half of daka
Interquartile range: &5 - Q.‘ W: Mar =~ min
When comparing data, you can talk about:Mﬁf mﬂ%& M-(.A«iéu\_; WMJS} IG..Q\

3) Make a box and whisker plot to represent the data.
a. 1211151219201914181516 (1( -vdlr\tbb-b b. 120145133 105117 150 130 136 128

Calevlator ¢ Groar | ' Edit, enker data
T e =) [Be] [N

ll.l,.l.l-laf- —— = B .
o e Tt o Unast bokglehy Adjost window
4} Make two box and whisker plots to represent the average monthly temperature in two cities. Then use the
box and whisker plots to compare the data.
ﬁ.ﬁ “—- S TR R
EACE L Gipi g 0
; fm 8] 61.9:[:55.
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Florida X ° 6%.0°  Mdiga’ 68.4 (Osch calcdator Yo compase
. = 18,6 Mebiaal 7005 ot p\oh)
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A percentile is @ rumber from € to 100 that shows the percentage of the data that is less than or equal toa
value in the data. For example, if x is at the 63 perZentile, then 63% of the data are less than or equal to x.

Here is an ordered list of midterm test scores for a Spanish class. Circle the value of the 65t percentile.
\s L0
Tote 15 BY%
Eﬂ“: M 0
Find the values at the 30th and 90t percentiles for each data set. éor‘\' k O‘P& (L’f")
a) 6283 5700 6381 6274 5700 5896 597 = ok )
Pl ” - 1 ’ :
Tokal® 10, each is (0% $H70 0™ 6185| [Shat] (4 B4, MM '
b) 7 12 3 14 17 20 53 17 4 13 2 15 9 15 18 16 90 T &
3 9 15 691 ,n §of‘*A

A (1) (e

41 54 61 65 67 73 74 77 77 77 7980(83)88 89 93 97 98 98 100




